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BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 
December, 2018 

(APPLICATION ORIENTED COURSE) 

AEC-01 : ENVIRONMENTAL CHEMISTRY 

Time : 3 hours 	 Maximum Marks : 100 

Note: Attempt all questions. The marks for each question 

are indicated against it. 

1. (a) Fill in the blanks in the following 
(any five): 	 5x1=5 

(i) Supply of 	 element 
increases stiffness of straw. 

(ii) Concentrations 	of 	pollutants 
	with increase in industrial 
activity. 

(iii) PAH stands for 

(iv) 2,4-D is used as 
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(v) The metal 	 is associated 

with Itai-Itai disease. 

(vi) Fluorosis in animals is due to 

	pollutant. 

(vii) The precipitation titration carried out 

with standard solution of silver 

nitrate is known as 	 

(b) Define any five of the following terms : 	5x1=5 

(i) Molarity 

(ii) Indicator 

Rodenticide 

(iv) BOD 

(v) Turbidimeter 

(vi) Denitrification 

(vii) Dew point temperature 

(c) Answer any five of the following : 	5x2=10 

(i) What are manures ? Give their types. 

(ii) Name any four elements present in 

organic matter of sewage. 

(iii) Name two important radionuclides 

having long half-life. 
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(iv) Name any four organic pesticides 
which resist bacterial degradation. 

(v) Give any four characteristics of an 
ideal pesticide. 

(vi) Define Global warming potential. 

(vii) Name the different regions of 
atmosphere on the basis of vertical 
distribution of temperature. 

2. Answer any four of the following : 	4x5=20 

(a) Explain the terms Pedology and Edaphology. 

(b) Explain why earthworms are said to be the 
most important soil animals. 

(c) Why should chemical fertilizers be 
supplemented by organic manure ?Explain. 

(d) Explain the terms water logging and 
salinisation. 

(e) What are primary and secondary 
meteorological parameters ? Give two 
examples each of both the types. 

(f) Name any five air pollutants and give their 
effects on human health. 
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3. Answer any four of the following : 	4x5=20 

(a) Why are the clayey soils more poorly aerated 

than sandy soils ? Explain. Give the three 

categories of soil structure. 

(b) What are the major stream pollution 

problems of the pulp and paper industry ? 

(c) Describe the various activities to reduce 

hazardous waste at source. 

(d) Write a short note on the treatment of dairy 

waste. 

(e) List the principal plant nutrients supplied 

by fertilizers. Give the chemical forms of 

each principal nutrient used in chemical 

fertilizers. 

(f) List the ways of minimising pesticide 

residues in agricultural commodities. 

4. Answer any four of the following : 	4x5=20 

(a) What is the main advantage of the double 

beam photometer over single beam 

photometer ? 
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(b) With the help of suitable examples, 

differentiate between iodometric and 

iodimetric Orations. 

(c) Besides chemical control, what other types of 

control measures are used in IPM ? 

(d) Describe methods for the determination of 

bacterial counts. 

(e) List any five methods of municipal 

wastewater treatment. Describe any one 

method. 

(f) What are the major diseases caused by 

organisms present in the sewage ? 

5. Answer any four of the following : 	4x5=20 

(a) What are the differences between aerobic 

and anaerobic decomposition of sewage ? 

How are they useful in sewage treatment ? 

(b) Explain thin layer chromatography (TLC). 

What are the various visualizing agents 

used in TLC ? 
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(c) What are the most commonly used methods 

for NO2  analysis ? Describe any one of them. 

(d) Define chromophore and auxochrome. 

Explain RED shift and BLUE shift. 

(e) Describe the various types of detectors in 

typical spectrophotometers. 

(f) Give any five characteristics of an indicator 

organism. 
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